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Part A

1. State Henry's law.

Watch Video Solution

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_uHS2KQfI6n8x


2. Van't Hoff's factor for a solution is less than

one . What is the conclusion drawn from it ?

Watch Video Solution

3. How many faraday of electricity is required

to reduce 1 mole of  ions to 

ions?

Watch Video Solution

MnO
−
4 Mn2 +

https://dl.doubtnut.com/l/_uHS2KQfI6n8x
https://dl.doubtnut.com/l/_BMMaBGHLlHKy
https://dl.doubtnut.com/l/_5GbfmbIOlZLU
https://dl.doubtnut.com/l/_3eBWedFOCJRJ


4. If the unit of rate constant of a reaction is

 then mention its order.

Watch Video Solution

mol− 1Ls − 1

5. Name a metal refined by Van Arkel method.

Watch Video Solution

6. Complete the following equations. 

XeF6 + H2O → ……. . + 2HF

https://dl.doubtnut.com/l/_3eBWedFOCJRJ
https://dl.doubtnut.com/l/_sK2R7rwZP86O
https://dl.doubtnut.com/l/_WnvWzc2yr045


Watch Video Solution

7. What is an ambidentate ligand ? Name the

type of structural isomerism arises when such

ligand present in the complex.

Watch Video Solution

8. Name the Following reaction.

Watch Video Solution

H3C − Br + AgF → H3C − F + AgBr

https://dl.doubtnut.com/l/_WnvWzc2yr045
https://dl.doubtnut.com/l/_yOGRBn75q8YE
https://dl.doubtnut.com/l/_rMH9QlgM4QOt


Part B

9. Ethanal  undergoes aldol

condensation reaction.Give reason.

Watch Video Solution

(CH3CHO)

10. Deficiency of which vitamin cause the

disease "Rickets".

Watch Video Solution

https://dl.doubtnut.com/l/_oENP1zW3LUfX
https://dl.doubtnut.com/l/_FqGCiItNyoLs
https://dl.doubtnut.com/l/_F7TVQC9VqzEl


1. What is Frenkel defect ? How does it affect

density of the solid ?

Watch Video Solution

2. Draw a neat labelled diagram of 

fuel cell. Write the reaction occurs at cathode

of the cell.

Watch Video Solution

H2 − O2

https://dl.doubtnut.com/l/_F7TVQC9VqzEl
https://dl.doubtnut.com/l/_D06J1nHAwryW


3. A first order reaction is found to have a rate

constant  . Find the half-

life of the reaction.

Watch Video Solution

K = 5.5 × 10− 14S − 1

4. Give reason : 

a) Cerium (Ce) exhibits  oxidation state. 


b) Actinoid contraction is greater from

element to element than lanthanoid

contraction.

+4

https://dl.doubtnut.com/l/_LSVqKe2ueKZt
https://dl.doubtnut.com/l/_9jS5VGta3wnP


Watch Video Solution

5. How anisole reacts with bromine in ethanoic

acid? write the chemical equation for the

reaction.

Watch Video Solution

6. Explain the preparation of carboxylic acids

from Grignard reagent . Give equation.

Watch Video Solution

https://dl.doubtnut.com/l/_9jS5VGta3wnP
https://dl.doubtnut.com/l/_B90L1qwZ2seg
https://dl.doubtnut.com/l/_JmGDMEPWI0Ob


Part C

7. Given an example each for 

(a) Artificial sweetening agents (b) Narcotic

analgesics.

Watch Video Solution

8. What are cationic detergents? Give an

example.

Watch Video Solution

https://dl.doubtnut.com/l/_y5sYvpEb3uVe
https://dl.doubtnut.com/l/_lG80efPZOogF


1. Explain the process of obtaining "blister

copper" from "copper matte" with equations.

Watch Video Solution

2. Write the equation involved in the

manufacture of nitric acid by Ostwalds process

by maintaining reaction conditions.

Watch Video Solution

https://dl.doubtnut.com/l/_c2M4y753tmGa
https://dl.doubtnut.com/l/_hUsq7VxAmuHX
https://dl.doubtnut.com/l/_ARk6Xob8aTTm


3. (a) How is ozonised oxygen prepared in the

laboratory? Give equation.

(b) Give the composition of " Oleum".

Watch Video Solution

4. Complete the following equations : 

a)  


b) 

c) 

Watch Video Solution

2NaOH + Cl2 → NaCl + …… + H2O

Na2SO3 + 2HCl → 2NaCl + H2O + ……

Cl2 + 3F2

573K
−−→  ……..

https://dl.doubtnut.com/l/_ARk6Xob8aTTm
https://dl.doubtnut.com/l/_JxsWzd4fIsjp


5. How is potassium permanganate 

prepared from  ? write the equation.

Watch Video Solution

(KMnO4)

MnO2

6. Why 3d-series of elements acts as good

catalyst?

Watch Video Solution

https://dl.doubtnut.com/l/_JxsWzd4fIsjp
https://dl.doubtnut.com/l/_MIYUYdOrbGlX
https://dl.doubtnut.com/l/_9PLl11zoe5pk


Part D

7. Explain the hybridisation, geometry and

magnetic property of .

Watch Video Solution

[Ni(Cl)4]
2 −

8. Write the IUPAC name of :

Watch Video Solution

[Co(NH3)4(H2O)Cl]Cl2

https://dl.doubtnut.com/l/_aS8teRjLEQM4
https://dl.doubtnut.com/l/_r1q9htiXxUgF
https://dl.doubtnut.com/l/_sV01FnZJol6e


1. An element having atomic mass 107.9 u has

FCC lattice. The edge length of its unit cell is

408.6 pm. Calculate density of the unit cell. 

.

Watch Video Solution

[Given, NA = 6.022 × 1023mol − 1]

2. The boiling point of benzene is 353.23 K

when 1.80 g of a non-volatile, non-ionising

solute was dissolved in 90 g of benzene, the

boiling point is raised to 354.11 K. Calculate the

https://dl.doubtnut.com/l/_sV01FnZJol6e
https://dl.doubtnut.com/l/_M70x4efAWPrf


molar mass of solute. 

[Given  for benzene = 2.53 K kg ]

Watch Video Solution

 Kb mol− 1

3. i) State Kohlrausch law. 

ii) What is meant by limiting molar

conductance.

Watch Video Solution

https://dl.doubtnut.com/l/_M70x4efAWPrf
https://dl.doubtnut.com/l/_nQpsoznQJ8CN


4. Derive an integrated rate equation for the

rate constant of a first-order reaction.

Watch Video Solution

5. What is heterogeneous catalysis? Give an

example.

Watch Video Solution

https://dl.doubtnut.com/l/_vRkUE87qepXc
https://dl.doubtnut.com/l/_1GOazQrzk4tb


6. Name the reagent used in the

dehydrohalogenation of haloalkanes.

Watch Video Solution

7. Write the mechanism of aicd catalysed

dehydration of ethanol to ethane.

Watch Video Solution

https://dl.doubtnut.com/l/_2foHVhqSgcbF
https://dl.doubtnut.com/l/_DYUp18bD8a2s


8. How does propanone  reacts

with hydrazine? Give equation.

Watch Video Solution

(CH3COCH3)

9. (a) Explain carbyl amine reaction with

equation. 

(b) How does nitrobenzene is reduced to

aniline? Give equation. 

(c) Write the IUPAC name of

C6H6 − N − CH3
∣

CH3

https://dl.doubtnut.com/l/_y3ui0auGM3cx
https://dl.doubtnut.com/l/_YN5E6tONZDi0


Watch Video Solution

10. (a) Write Haworth structure of "Lactose". 

(b) i) What are non-essential amino acids? 

ii) Write Zwitter ionic structure of "glycine". 

(c) Name the nitrogenous base present in RNA

but not in DNA.

Watch Video Solution

https://dl.doubtnut.com/l/_YN5E6tONZDi0
https://dl.doubtnut.com/l/_xVXeU1u8Bzyp


11. (a) Explain the preparation of Nylon-6, 6

with equation. 

(b) What are thermoplastic polymers? Give an

example 

(c )Write the structure of isoprene (2-methyl-

1,3-butadiene).

Watch Video Solution

https://dl.doubtnut.com/l/_PjG1pt5b8je3

